HW#4  Name ____________________________________ Date ______________ Period ____

Matrices on the Calculator

State the dimensions of the matrix.
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answer: _________
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answer: _________
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answer: _________
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answer: _________




(a)  State whether the operation is possible.   (b)If the operation is not possible, state the reason. If the operation is possible, state the dimension of the resulting matrix.

	5. Add a 2X3 matrix to a 3X2 matrix.   

(a) __________________

(b) __________________________________


	6. Multiply a 4X4 matrix to a 4X2 matrix.   

(a) __________________

(b) __________________________________

	7. Add a 1X3 matrix to a 3X2 matrix.   

(a) __________________

(b) __________________________________


	8. Subtract a 2X3 matrix from a 2X3 matrix.   

(a) __________________

(b) __________________________________

	9. Multiply a 6X4 matrix by a 4X6 matrix.   

(a) __________________

(b) __________________________________


	10. Multiply a 3X1 matrix by a 3X4 matrix.   

(a) __________________

(b) __________________________________


Use the given matrices to write and simplify each expression.
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	11.   A + B



	12.   B – 2A
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	13.   AB  



	14. C+(CE) = 



	15.  E²


	Find the value of each variable. 
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	18.    What is the slope of the line?

 x + 4y = 8?

A. –4        B.  
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	19.  7.  The cost of a taxi cab ride is a function of the number of miles traveled.  The cost of four rides is shown in the table.

Miles

Cost

3

$6.45

6

$12.90

9

$19.35

12

$25.80

A. A rate of $2.15 per mile.

B. The total cost per ride.

C. An average of 7.5 miles per ride.

D. A total of 3 miles between rides.

	20.  The owner of a bookstore recorded the following information from last week.

Number of Customers, c
12

18

24

30

36

42

Amount of Sales, s (in dollars)

80

110

140

170

200

230

According to information in the table, which equation describes the relationship between the number of customers and the amount of sales.

A. s = 6c + 30

B. s = c + 30

C. s = 5c + 20

D. s = 
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E. s = 6c + 8




   If the data are graphed with 


     miles on the horizontal axis 


     and cost on the vertical axis, 


     what does the slope 


     represent?
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